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Exercise

1. 85 geret A miTa 38 3 5000 Hiea <t €9t 3 €3 faor J1 f&a
fenn fdg '3 feg gerel Aam mied 38 3 1200 Hieg g8 3¢t Iet uasgHt
€ ala 8Ug JuagHt w3 geret Ao € feg it gdt fdat 97

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xMgM8A1cOWX1

2. Hgs Mye 81 u73 feg 22000 MY ader J »i3 »as fos fen fed
31642 dee &' JIAad deret arel gt & fae3Hd At & egnatfan
e 3t My 131 It & 3T fam 3gF egrGal? dege 3 gmiE Has @ ¥3
feg garfen gt uzT 33|

o Watch Video Solution

3. 913" fdg A 3 ygg €3 fie B 35 20 faBHleg gdt 3n et 31 B8R A3d
3 fifg B 3 89 30 fahleg & gdt Yar €5 3 J9e! J1 Add Yde 28 3m
it gt & ga3Ha Hygs Hitm &% ggatfen A2 3T UgH €5 3v diFt
et & 3Hi for 3t TomGan? fifg A 3 GRe nmidt st & faodt Huds

Ay 7% egATEa?

o Watch Video Solution



https://dl.doubtnut.com/l/_YEwliSrmyUni
https://dl.doubtnut.com/l/_lGoE3exuLDx7

4.3 fod Juat § HY dds Bt Uts feg Hal3 >, < A = €7 yuaT dd: (d)

39+ (—24) — (15) O 36 + ( — 52) — ( — 36)

o Watch Video Solution

5. 35 f88 quEt § HY 396 BEt U1 feg Ha3 >, < AT = €7 YWdl d4: (e)

—231+ 79451 OO —399 + 159 + 81

o Watch Video Solution

6. fed fAd Huds Htmret e A3 sy fagi e .- A3-7 92

o Watch Video Solution

7.fed frd Hyds wftme w /3 e frigf e :- #i3g - 10 I

o Watch Video Solution



https://dl.doubtnut.com/l/_OOuCsGHj7V3D
https://dl.doubtnut.com/l/_clcMtDcFUBwE
https://dl.doubtnut.com/l/_J14yzZzOqEg0
https://dl.doubtnut.com/l/_byEIX69vhGC3

8. fed frd Hyas Aftmret & A &8 fagi @ - A3 0 3=

o Watch Video Solution

9. fex fed frar fge3Ha Hyaa Aftmiret & AFT fisd fist & w39 8 J=

° Watch Video Solution

10. f&d fge3Ha Hyds witmr »3 fea ga3Ha Hygs Hitmr fisd friost
T H3 (-5) =

o Watch Video Solution

11. f£x fge3Ha Hyaes At mi3 fex ga3Ha Hyas At fed frast @

n3d -3 Je|


https://dl.doubtnut.com/l/_byEIX69vhGC3
https://dl.doubtnut.com/l/_N68OK8LNczUC
https://dl.doubtnut.com/l/_BRQpfLf3Sdf2
https://dl.doubtnut.com/l/_iSjsjQBQfbAl
https://dl.doubtnut.com/l/_9E58IDfw2EVK

o Watch Video Solution

12 J5 838 zEs & HY dds e U@ HES  I3:-
(=5)+(—8) =(—8) + (o)

° Watch Video Solution

o Watch Video Solution

14. 35 {83 a6 & HY 396 S @B ATE 33 17 + ... . =0

° Watch Video Solution



https://dl.doubtnut.com/l/_9E58IDfw2EVK
https://dl.doubtnut.com/l/_wJ0ymdnU3TPx
https://dl.doubtnut.com/l/_P0CKK2DLmfQq
https://dl.doubtnut.com/l/_L5ivJo2scnTU

15. Jc fsd sgs & HY dds BEt U@ HEE IO

13+ ( —12)] + (ceeeennnne )=13+[(—12)+ ( —7)]

o Watch Video Solution

16. Jc f5d s & HY dds Vet UF® HEE FI-

(=4)+[15+ (-3

[— 4+ 15 + oo,

o Watch Video Solution

17.35 {89 Jeaes §u3Tdd:- 3 x (— 1)

o Watch Video Solution

18. 35 &89 Jeces U3 dd:- ( — 1) x 225

o Watch Video Solution



https://dl.doubtnut.com/l/_6W7QqJSseeVg
https://dl.doubtnut.com/l/_ITWXhYW7MN6H
https://dl.doubtnut.com/l/_NlXAys6V6T15
https://dl.doubtnut.com/l/_DggNSqTuLYcg

19. 35 54 greses U3t ad:- (— 21) x ((— 30)

o Watch Video Solution

20. 35 {88 geaes S uzTad:- ( — 316) x (— 1)

o Watch Video Solution

21.35 58 greses U3TAd:- (— 15) x 0 x (— 18)

° Watch Video Solution

22.35 fod greses dusTdad:- (— 12) x ((— 11) x (10)

o Watch Video Solution



https://dl.doubtnut.com/l/_DggNSqTuLYcg
https://dl.doubtnut.com/l/_eOa9MFVLwzSd
https://dl.doubtnut.com/l/_sA3Av8JpX8Dg
https://dl.doubtnut.com/l/_1BERLP4JIM7K
https://dl.doubtnut.com/l/_E2qdn7MUKoQZ

23.35 188 Jeses Su3Tad:-9 x (— 3) x (— 6)

o Watch Video Solution

24. 35 {83 Jeses SU3Tad:- (— 18) x ( — 5) x ( — 4)

° Watch Video Solution

25.35 {88 greses SusTad- (— 1) x (—2) x (—3) x 4

o Watch Video Solution

26.35 fBE qreseB dU3TAd:- (—3) X (—6) x (—2) x (—1)

° Watch Video Solution



https://dl.doubtnut.com/l/_UdCEsbynCD7K
https://dl.doubtnut.com/l/_SdeNaFnMrc1r
https://dl.doubtnut.com/l/_v92iiHGoqGl3
https://dl.doubtnut.com/l/_m3K0SQtoCMpX

27. 5 fsa <t HaTel <t GIE) -

18x [T+ (—3)] =[18x 7] +[18 x ( — 3)]

o Watch Video Solution

28. Js &g S| BERSH S| BIS) -

(=20 x[(=4) +(=6)] =[(—21) x (=4 +[(—21) x (- 6)]

o Watch Video Solution

29. fan Hygs At o Bt ( — 1) x o foAR gargg I?

o Watch Video Solution

30. B8d HYd® Hitm Y31 I3 fAAET (-1) 378 JE5e8 0 T:- (a) -22 (b) 37

(c)o



https://dl.doubtnut.com/l/_E8aVOm8yoKwW
https://dl.doubtnut.com/l/_NVfv8Bc1JgTw
https://dl.doubtnut.com/l/_Am1hAUK1FxcE
https://dl.doubtnut.com/l/_pZuTYq1cp5S9

| o Watch Video Solution

31. (— 1) x 53 gg 3da 29 24 JIe5es gntdr dgt SHE' TgHge I

(=1) x(—1) =18=an8l

o Watch Video Solution

3. 893 g T yYdda dae JT, JSaes U3 dd-

26 x ( — 48) + ( — 48) x ( — 36)

o Watch Video Solution

33. 893 I T YWia1 aae I8, eaes U3 ad:- 8 x 53 x ( — 125)

° Watch Video Solution



https://dl.doubtnut.com/l/_pZuTYq1cp5S9
https://dl.doubtnut.com/l/_lRAdMVWMCWYF
https://dl.doubtnut.com/l/_YqfR5W4xN8Y6
https://dl.doubtnut.com/l/_d38hjozo6Oil

34, 83 g T yYdd dae Je, JEE U3 dd-

15 x (—25) x (—4) x ( —10)

o Watch Video Solution

35. 8fg3 g T YWaT dge I8, JS5es U3T I ( — 41) x 102

o Watch Video Solution

36. 83 g T yYdd dae Je, JSIEE U3 dd-

625 x ( — 35) + ( — 625) x 65

o Watch Video Solution

37. 893 grc T yudr dae 98, Iresed U3t dd:- 7 x (50 — 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_FttJgdXjwLnG
https://dl.doubtnut.com/l/_12vO6UTOBc7g
https://dl.doubtnut.com/l/_cmCvEvhDyeGT
https://dl.doubtnut.com/l/_NQ8MDLAJM0WA

38. 8f93 gIc T yWia1 dae I8, Jeaes U3 ad:- (— 17) x ( — 29)

o Watch Video Solution

39, B8fg3 g T Ydr doe I, Jae8 U3 da-

(= 57) x (— 19) + 57

° Watch Video Solution

40. €F YHe' 28 fod a@™H 2re feg gda Adt €39 BEt 5 via &3 AR
I& M3 I IB3 €33 Bt (2) Mia 83 AR I M3 & IfHH Jd6
yHe St figg fid3m 7w J1 (i) Hda & U €33 Hdl »3 8 €39 ars3 &3]
BHS fdg nig yrus o132

o Watch Video Solution



https://dl.doubtnut.com/l/_NQ8MDLAJM0WA
https://dl.doubtnut.com/l/_PauoGYFh3ITy
https://dl.doubtnut.com/l/_GXJKl2qX6ewQ
https://dl.doubtnut.com/l/_axmdfNETKHmZ
https://dl.doubtnut.com/l/_VEVXtaorV8iT

41. €A YIS T8 i I8™ 2He feg g9d Adt €39 B¢t 5 wig fid3 Ae 95
3 JI] I1B3 €33 B (-2) wix fid3 Aie g w3 & 3fiTH I =& yas
Bet fhgg i3 Ater J1 (i) IaHt @ UA €39 At w3 Ur €39 9183 a1 8
fd&s nia yuz3 o132

o Watch Video Solution

42. TH YHat @8 foa au™ SHe feg gda Adt €39 8¢t 5 vid fid3 Afe a6
3 94 9153 €39 B¢ (-2) ia i3 Ae I mi3 & 3fin das &8 yaat
Bet iz fésT /e 31 (iii) foar & I8 H3 Y o3, 84 fed YA a3 3 €
ala 37 A fds nia yrus 13?2

o Watch Video Solution

43. g Hife st & fde e 29 3 38 YEt act dt ea s B8 der
3 ASCT da1 € Aide 89S 3 35 Y3t a4t &t €9 o gt det J1 (a) far


https://dl.doubtnut.com/l/_VEVXtaorV8iT
https://dl.doubtnut.com/l/_zO4RLLaLlkGt
https://dl.doubtnut.com/l/_wQls79WOEWh5

HIlS FUSH 3000 It fder M3 5000 vt ABST Hide 29<t J1 Brer
B3 At T&I fdesr d=ar?

o Watch Video Solution

44. 8 Hife dust & fidar e 2ee 3z Yt adt S ea s B3 der g
w3 ASC! dat T Aide 29< '3 35 Y3t B4t &t T3 &8 gt gt 31 (b) Ada
6400 gdtt AR Aile €t 29t I 31 dual fddsht adin f92 Wi
v 29 {3 BHG & B3 ni3 & Tt Je?

° Watch Video Solution

45. y@l gt & fagdi Hygs Aftmel o8 g4t fa dga HY d Ame-

(-3)x _ =27

° Watch Video Solution



https://dl.doubtnut.com/l/_wQls79WOEWh5
https://dl.doubtnut.com/l/_ah7hvlHVYBhL
https://dl.doubtnut.com/l/_2Q375Gw2WuWW

46. ¥l g & fagdi Hygs Aitmel o8 Sdte fa dga HY J Ame--

5 X = —35

o Watch Video Solution

47. ¥t g & fagdh Hygs Aftmel &) Fate fd g6 HY J Ame--

__ x(-8 = —56

° Watch Video Solution

48. ydt g1 & fagdt Hygs Aiimrel 58 3dte & aus He J Ae-

x (—12) = 132

° Watch Video Solution

49,35 fd feg IF T HB U3 &S: (— 30) = 10



https://dl.doubtnut.com/l/_IeHbK3lK99x3
https://dl.doubtnut.com/l/_5qDwQu4rJJRu
https://dl.doubtnut.com/l/_NO1fTHIyTRH6
https://dl.doubtnut.com/l/_tAHBFbhvR2Ki

| o Watch Video Solution

50.J5 f5d feg gda en Ws U3 ad: 50 + ( — 5)

o Watch Video Solution

51.35 fsd feg o T B U3T&3d: (— 36) = ( — 9)

o Watch Video Solution

52,35 &9 feg I T HB U3T3: (— 49) + (49)

o Watch Video Solution

53. 35 fgd feg goa e B u3Tad: 13 + [( — 2) + 1]

| ° Watch Video Solution


https://dl.doubtnut.com/l/_tAHBFbhvR2Ki
https://dl.doubtnut.com/l/_ejFTMAcS4Vhs
https://dl.doubtnut.com/l/_03y4P08GihTj
https://dl.doubtnut.com/l/_GVoGwBBCKn37
https://dl.doubtnut.com/l/_TUThqx6JLO8j

54,35 fsd feg gda e s U3 ad: 0 + ( — 12)

o Watch Video Solution

55. 95 fgd feg goa e g u3Taad: (— 31) + [( — 30) + ( — 1)]

o Watch Video Solution

56. 35 fgd feg gda T s U™ aa: [( — 36) = 12] + 3

o Watch Video Solution

57.3c fed feg gda e g uzTad: [( — 6) +5)] = [( — 2) + ]

o Watch Video Solution



https://dl.doubtnut.com/l/_TUThqx6JLO8j
https://dl.doubtnut.com/l/_msUvg43V4Uhc
https://dl.doubtnut.com/l/_3XDwmeEYn94s
https://dl.doubtnut.com/l/_JOj8ONs7xJCB
https://dl.doubtnut.com/l/_RpFkpSv2am1j

58. a, b M3 ¢ € JI& &3 Tdd WB fed Tdd 2 e
a+(b+c)# (a+0b)+ (a+c) SHIE UITAS:- a=12, b= 4, c =2

o Watch Video Solution

5. a, b M3 ¢ @ JI& &3 Tdd WB fed Tod © e
a+(b+c) # (a+0b)+ (a+c) SHIE YITAS:- a= (-10),b=1, c= 1

o Watch Video Solution

60.UBI HE5$33:369 ~ _ _ = 369

o Watch Video Solution

BLYB TS SIS (- 75) =+~ _ _ = —1

o Watch Video Solution



https://dl.doubtnut.com/l/_lg1alvp0dbNa
https://dl.doubtnut.com/l/_CQB2Q9xqDmtl
https://dl.doubtnut.com/l/_tAEXgrYHk9aQ
https://dl.doubtnut.com/l/_hfv9OaQbjRkm

62.UH HEGSI: (—206) - _ _ =1

o Watch Video Solution

63. 4TS HE'S & 33: — 87 + = 87

° Watch Video Solution

64 YHHEG SIS - . 1= — 87

o Watch Video Solution

65. 9 HES ST - . +48= —1

o Watch Video Solution



https://dl.doubtnut.com/l/_hfv9OaQbjRkm
https://dl.doubtnut.com/l/_m0qfJtsEVbKJ
https://dl.doubtnut.com/l/_MMiILTls64jC
https://dl.doubtnut.com/l/_GK0k2Jg2YvwY
https://dl.doubtnut.com/l/_u6WLYjS6dtQb

66.UBIAEES33:20 - _ _ = —2

° Watch Video Solution

67.4SAESSIS: - . +(4) = —3

° Watch Video Solution

68. Ur fad fadtnt Hydes Hitmre! (a, b) @ A3 83 37 fda - b = — 331
fersgie feada (6, — 2) 3,fa8fx6 + ( — 2) = (— 3) I

° Watch Video Solution

69. Tufdd 12 =1 3”H™® figd 3 10° C fmer H| Add 3uH™s »idt 973
33 2°C yFt Ui & v 3 uicer IR 3 fagd mi s figg 3 8°C
g8 Jegr? »fdt a3 & 3 fdgt d=ar|



https://dl.doubtnut.com/l/_djvKMvOWyKfb
https://dl.doubtnut.com/l/_vbMujsItcbaG
https://dl.doubtnut.com/l/_oWBLnNZrVayp
https://dl.doubtnut.com/l/_9AANJwSQhali

I o Watch Video Solution

70. f€a a@m 2nc feg add Adt €33 B (+3) ¥id &3 AT g5 M3 I3a
I3 €39 Bt (-2) via 23 Ae I6 M3 & I8 396 8 YHS ©F dgt mid
&dt fid3T Aferl (i) Ifaar & 20 »id Y3 di31 Add 8AT 12 839 Adt d< 3
8HS T yra T €39 9133 312 (i) Higst 2re feg (-5) »id yrus3 daet
J Afa G 7 €39 Adt A1 8RS fdS Yyaa € €33 9183 fid3m?

o Watch Video Solution

71. fa Mdieeg far us "ee 6 Hieg y3t fife €t va o® &8 Afer J1
Adg §8 A< Ug3t € 38 3 10 Hieg Gug 3 gg J° 37 — 350 Hicg udee
'3 fder Mt Batar?

o Watch Video Solution



https://dl.doubtnut.com/l/_9AANJwSQhali
https://dl.doubtnut.com/l/_7KMXT1PNHeXY
https://dl.doubtnut.com/l/_Z6kz3XwS8fqg

